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Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Total Marks : 50
(Y= mark for each question) Total Questions : 100

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-48 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet/OMR Answer-Sheet.

IMPORTANT INSTRUCTIONS

Do not open the Question Booklet before 10:00 a.m. in the Examination Hall.

+

4+ Read the questions carefully before marking the right answer with blue/black ballpoint pen only
in the appropriate circle of the OMR Answer-Sheet, as no extra OMR Answer-Sheet will be
provided for any mistake or correction.

4+ There is no negative marking for any wrong answer.

4+ In cases where candidate selects more than one option of a question, the question will not be
evaluated.

4+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her
Roll No., Question Booklet Serial No., Question Booklet Code in the space provided in the OMR
Answer-Sheet by shading and by writing in alphabet and numerical on the front page as well as
on the back page. Otherwise the OMR Answer-Sheet will not be evaluated.

4+ Candidates will have to sign twice, once in the Photo Attendance Sheet presented by the Invigilator
on duty after taking their seats in the Examination Hall, and the other, at the time of handing over
their OMR Answer-Sheet to the Invigilator after the completion of the Examination. Cases where a
candidate has not signed while submitting the OMR Answer-Sheet, he/she shall be treated as absent.

4+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

4+ The candidate should make sure that the Question Booklet No. and corresponding Question
Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her. For example, in
filling up the Question Booklet Code, if the candidate gets Question Booklet Code ‘A’, then
he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet.

+ Candidate should do all the necessary rough work on the Question Booklet in the space provided.
Rough work should not be done on the OMR Answer-Sheet or on any other paper. If any rough work or
overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

4+ In case of any discrepancy or confusion in the medium/version of the questions, the English
version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

4+ Any candidate found using unfair means including carrying restricted items like mobile phone,

calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.
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OMR TeI°[@3 9 F919 Wee A[rwidicn Fioe 2 ='3 1 2% “[feFia 1-48 &1 el ol
TPEIE 2l (2 Wit W FPve 99 Ao (1 OMR $eI°[@¥d (FF1 (999 A | (@l &7
femfs Aifece seFdle MAFFe T@ere 1 2@ 92a OMR TeI2[@e Fef FF #1°7 |

el Feeaa)

+ %@l 10:00 IHT WA AT ¥ FFo Y |

+ OMR T&I7[@d IR JEBIS el /F N IARD (It w5 Teaeh! Dies F1 SA9TS 2PTh!
AR~ 6T, T T A A WH FAAA @I Aroe OMR TeIo@ el =7 |

+ ool Teq AR (FCA AeeF THG A |

+ Tz @ AR 9B AN Ted Zoieet abrets wike fTem v 91, o oFae AN
TR FA =T |

+ Non-Standard OMR T@I7g J92RE CFae ~AFIAE IRALSIE 0SEF @Iet 7154,
MIFIFE] TFNF 54, ANFIFe] F06I OMR Tedoiqq e dize F'a F 1 «afa i
M P W AR IS @bl e W RGPS Il OMR Teo[@ss FdFela 21 FE
=7 | Sl OMR T@a7[@q e 1 7=’7 |

+ ArFTRE MR T woe Sakferme @R IR SRR eE, daEE (osEE
HIFFFS SPF 229 FE TS I FolRa OMR $ed9la Wrwas ool flF e | (FIe

QPRI OMR Te97iq &1 e e A ORI Jree 76Cq, (92 Tol (SSCE S iEe
Ffer Ricafbe 279 |

+ AR e Wl e o (oetEey (@@ w9 R folkE =l |

+ Rl [ive @l Tve Ate arFiTed 799 W AT PFFed T w5qcsl OMR TeIo[@d
iz ofze fordl = | Twiemaeel, FFed T o[ FAN WS, WA = F4
FFeT T ‘A’ 2fFE OMR Ted+iad Fifng oize ‘A’ i =ifoR =i e g ‘A’THl
Fe FEF AR |

+ A AR 43997 ARG U641 (rough) FIN 2FIFeS W2l JiFecz R 1R | AF=AE
541 (rough) TN OMR T€I7[q 1 ) (FICl 4997 FME© F€9 GTA1ET | OMR Tea#iqw 3w
@3 4591 (rough) FIN *[REFIANE FCT ST 390 R I92E I, (SR (91 OMR Tea71@d
R 91 29 |

+ E YN A AFS @I [ Femfe At i@ @ i SRy R RS
AFINHIFR 2AF© W& o1 oIF F1 27 |

+ A ool Al SRS (I SRR ASFrT G| R SEEe i@l 9279 |

+ AFEFIIPRAS ARFIN 2 /e Rm TN @ (NS (@, (PAPCEDT Al (PG 41O
(e SR 1 Seifesee 97 _reerce Ware Sute Wl 7=° | W @i A[rwEic o

TR SEeTE 9 A SUS Teay 1 AQER TREpEE Tl 909, (90F (96 Sl e
e 791 2737 |
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OMR Tea°[@lb *7e TR i A= TR 7iPe 2o =3 @ ria 1-48 “Ife e
el FuiE e zene @32 e F90s =3 (@ OMR Te#iaft @<= S & | (@il 2T
fomite et wif<eres Farvece wRele FiEc eef@b wdql OMR Seaed@is wel 0 (= |

gl e

+ 9 10:00 THFE A 2e@l [ FHe oA A |

+ OMR Tea°[tad T9MY Jefoce M1/ s o 7=l wa Teaib fofee waam 7
2 AR AT T, T $ol = AV WH FAA G (e Sfofe OMR Teaeia (rew
=T A

+ gF1 TeCHEH T (I AN TG AR A
+ T AT @I AT T GF WHF [FH O (W0 e, OiReeE (iR 2o e

T w4 7CA A

+ Non-Standard OMR ¥@37[@ JHRIGH (FCa ~FFACE IR Slwd @&l 754, 2efeam
e T4, TR o OMR Tedeitad [We i Fiten Face A G2 ANGH ol @
RGP @I I G FARIPPF o OMR TS AT A FACo = | Sall
OMR S@a°[(qd Jehie Sl 23 =1 |

+ Aol AW men TOE TARfot@ @R ARG S WA, AL OwE A
FCF WP A2 FUE WA @R fGeRMN OMR TeRdw fATTRGE wWl oreuy W |
I~ OMR Teselq & (1S S A FHORRIE Frw A T, W20 i HeEe
¢ A0 P T

+ R erog e e T RS OIE @6 91 W13 fGee 33 |

+ A9 Five 2o Bt awe 2etad w99 @32 B 2Meted (e w5a OMR $@dtad
e 2 @) = | SniRReEE, 2eEd (FIC R FE T, CAEE cfen epead
@FC ‘A’ 4FE OMR Seaeitas e Ziea ‘A’ forvce =@ @32 ffwe Je ‘A’ Fieen Face
Eell

+ AT T @I ACEAE PTE (rough) FE ANCE FSAN T FACS ARCE | AR
T8l (rough) & OMR TSR9[@ Al S (FIC R FI9CS FACO ARG 11 | AW~ 3
PTel (rough) ¥ OMR Teg9(q FCa« 1 AWl 98 <2 I+, O34 (12 OMR Tex(qq
JoRE 1 2

+ ATYR WY A AFR (FICA TR SIS 20 WA @R SPRY 20 RS ARl
e ww 0o Al T =S |

+ S DO CRICT “RPRIACT “AFICeT el S SRS (e 2 Al |

+ ARrERioE R 2 /F0F (@l [iEm TN @ (RIRe @, FIRCEDT G9R CPIC]
(e smees 1 Sefesa N 2oy 92 A SRS (redl 7 A1 | ARERIRIoE AW el
ORI TR S FECS (7)1 A AN SR AN Toed e o ez Saee S, wod
SR SIS (IR 1 3 |
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OMR fr foemzEt eng @A e foenfern 1-48 Rm miiven femeswr @iy
Tz W@ SeEEE g 3 OMR TR faergan et amaee’ o SrgmEt TEt A= |
UEATER dA-99 AFTseT @ity foerget tar OMR iR faegel d@emaar g0 e
AR e ot

NIEIREDIC]

+ %4 10:00 femfy R @ity foemgEt omaeg Ty WaAt T2

+ OMR o faemef g sEaE e/ mam adug< wausl T« et @ gaete
Rrr Fifdret AiSTE WEET AR, AT AT 0 MRS SrEedt et e WTATH T
ATETT HiFa IHT OMR i forermg g s =)

+ SraRgern M AR e’ TR aEE T2

+ foremfern @@ iferama wAafgs aifem et g b JifeEt e TEEE TEE
T=TI

+ Non-Standard OMR fa faemz sErEAmf fafdem faerfemn e MR @ T,
ity faemsi wiit 5., wifa faeef F=wt OMR i el feme s Taw
(3rfmT) forA e oy WA AR | ASTsen OMR TR feets@t stawg Aea
THEE TST

+ fasmiamn @a @iz gat 9E, @9d STHESTe GUEE g Tael Td SEEE SR
E foamE amE TERATEn gHE 6T JSAE e, AW EE ', AN
BEFEMN e TRRATET OMR R forerget 1amH™ @qe OMR 5 foeme namemm= aame
oo @fg emdsen o TASed SaReHH EFAH THEA™ S |

+ gify foemgame e framm S fasfern Tad el @ e e |

+ Hifa foesf TR o wify faemef o TFrEt OMR e faemefR Semm s
o /e EremEE wrE faerfern den st e St aifed, aifa el
S I WA qutE et @A ity fSest wst ‘A’ SmEser OMR TR
faemef Sramm ST ‘A’ fE T o S sEa ‘A’ @t M e
Eiicl

+ foemferern midst TEmfA T TEE @A ARAEEE (rough) @TETRE Hify faemst gram
SEATEEE! @Al AT | SSeR SramaT AREEEE @b B o e Wil e
TEm o o wem geaE qe1| R feegae 9 @A aREREE (rough)
Tl oo wemeen e foRen foRfd (overwriting) @remdiea TeT YF e
(whitener) OMR %7 feeza ®Hisen & OMR b foems@t Aram™ S =S|

+ Hity faemsf ol wan wreEAmETE JrErER TR arEeet Tar i SiEaETE SE SEset
UM TasTt ®BETEAE ity foremgE@i - T gHa THEET =™ S |

+ TS WfAFET AT qure Taet oo stasmefafar e ammafy ey S s e

+ IrEeffer/@umaTe ARaT St 2o AT gar SR uemEd %, halgaled e fofs Tamfy aremer
T ol aerisal o fasi! amaT M/ S|
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SPACE FOR ROUGH WORK
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. TS Rl oS A SRS 4aeEs Az Tferea
ABC : UVW :: DEF :
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(A) XYZ (B) MNP (C) POR (D) GHR
. e T e ToRe SRRl e e
ABC : UVW :: DEF :
(A) XYZ (B) MNP (C) POR (D) GHR
. TEMETE EF/ SHIERRH ATEr STRSTYE RahrE! g A1 fag
ABC : UVW :: DEF :
(A) XYZ (B) MNP (C) POR (D) GHR
. Select the related letters from the following :
ABC : UVW :: DEF :
(A) XYZ (B) MNP (C) POR (D) GHR
. ooTe Al AR #I91 @Fa1 FRAICO! AR Tfered
225 49 121
8 7 3 4 6 ?
A) 4 (B) 21 (C) 20 (D) 5
. owe foasfr (s [ega M @z @ T
225 49 121
8 7 3 4 6 ?
A) 4 (B) 21 (C) 20 (D) 5
2. THME HEMRGRE TSRHEE TR SAmmE ae
225 49 121
8 7 3 4 6 ?
A) 4 (B) 21 (C) 20 (D) 5




2. Select the missing number in the given diagrams :

225 49 121

A) 4 (B) 21 (C) 20 (D) 5

3. TR WRICOA 2GS 3129 TS FRIICH! 01 Tfere
8, 24, 12, ?, 18, 54

(A) 18 (B) 36 (C) 46 (D) 38

3. RIS *eerfbee arearss (?) T SoRye R0 o (@9 e -
8, 24, 12, ?, 18, 54

(A) 18 (B) 36 (C) 46 (D) 38

3. TEEE TFE HINEE MYFE SHSEE g9’
8, 24, 12, ?, 18, 54

(A) 18 (B) 36 (C) 46 (D) 38

3. In the following series, select the missing number :
8, 24, 12, ?, 18, 54

(A) 18 (B) 36 (C) 46 (D) 38

4, G 15 S (2 L ?

A) S (B) 4 € 3 (D) 2
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4. FTOGT TGP S 20T AN ?

A) S (B) 4 € 3 (D) 2

(A) S (B) 4 €) 3 (D) 2

4. How many cubes are unseen?

(A) 5 (B) 4 (€) 3 (D) 2

5. TER RGN LPIANLF 92 TS IRAAR R Sferaar
99, 102; 51,54; 27,30; ?,?

(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21

5. frafefie x4 2R =i SR IRAcErel 08 @@ Al
99,102; 51,54; 27,30; ?,?

(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21
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5. TEETE gF BRI H=l M7 SHRHT ST g
99,102; 51,54; 27,30; ?,?

(A) 12, 15 B) 15, 18 (C) 10, 13 (D) 18, 21

5. In the following series, select the related number pair :

99, 102; 51,54; 27,30; ?,°?

(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21

6. &9 DR e[ wiNeT Bacs! qifz Tferea |

) w N ey
6. Acod awfle o emefs A ot @z Me|
(A) ‘ (B) A © ‘ (D)

6. TTERI WEMRGR TSR T Gt e’ fogH |

(A) ‘ (B) A © (D)

6. Find the odd figure from the following.

NORYVNIOR
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7. wﬁmmwmmwﬁ?@iﬁfw:

(B) 175 225 (D) 150

7. fare g cwﬁq@wnﬁ@@mw:

(B) 175 225 (D) 150

7. B FEMRERE TSHEE TaEE sEimE g

(B) 175 225 (D) 150

7. Select the missing number in the given diagrams :

(B) 175 225 (D) 150

8. Oq ERT e[| wiNeT oacsT Ay Tferea -

(o]
) ® | o= © ||=o D) %

Sevx Pawfr e erafe A= Bab @ s

(@]
) ® | o= © |[=o D) %

®
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8. TEMA WEMNGR TSR TR G @ 1 fogH

O
(A) B) o:ﬂ © B:.o

8. Find the odd figure from the following :

(@]
() ®) o:ﬂ © B:uo

(D)

9. oo BT 2[1 (@1 MR AMfe Therea :

6 4 5
(A) 18 (B) 46 (C) 80
9. zie fouafl (e f[e@ 4 Fiva e

LN NN,

A) 18 (B) 46 (C) 80
9. TN HENHIH TSRAHE MHHE S 9

LN NN,

(A) 18 (B) 46 (C) 80

9. Select the missing number in the given diagrams :

LN NN,

(A) 18 (B) 46 (C) 80

(D)

70

70

70

70
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10. W2x3x4=432, SX6XT7=765 7Tx8x9=987, ((B2Xx5Xx7="?

(A) 572 (B) 752 (C) 725 (D) 257

10. ﬂﬁ2x3x4=432, SXO6XT7=T765 7Tx8x9=987, ORR(T2Xx5X7="7

(A) 572 (B) 752 (C) 725 (D) 257

10. ﬂ%2x3x4=432, SX6X7=765 Tx8x9=987, 3T 2x5x7="?

(A) 572 (B) 752 (C) 725 (D) 257

10. If 2x3x4 =432, 5x6Xx7=765, 7x8x9=987, then 2x5x7="7?

(A) 572 (B) 752 (C) 725 (D) 257
11. @0 ot o a1
C E G 1
6° 10" 14’ 18 —
P K K K
(A) 55 (B) 50 (€) o1 (D) 5
11. = 7 Sl

@A) — B) — € = D) —

11. TGl ST 377 W ¢

w £ | £ X o X

11. Fill in the blank :
9 E G I

>

6" 10" 14 18 —

o = | X & o £
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12. 2T 3% 7o 1 :

_ XX YX_YY XY XXY

(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX

12, *FTER ol e

XX YX_YY XY XXY

(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX

12. Gl ST 377 W ¢
_ XX__YX_YY_XY__XXY

(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX

12. Fill in the blanks :
XX YX XYY XY XXY

(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
13. @1 IfR “fFel 41 :
Doctor : Hospital : : Teacher :
(A) School (B) Field (C) Industry (D) Laboratory
13. *FTER <ol el

Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

13. el ST 377 W :
Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

13. Fill in the blank :
Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

cwT-—2025/P-11/ 302-C 13



14.

14.

14.

14.

Tt 5789 MANGBR FCFS GKPT =0 IF 2436 TRAGIA ALFS ALUR =W, (SC8 24539 FRLAGHE
RFS F 277

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

I 5789 MMM MFS GKPT =W @R 2436 RHI ACFS ALUR ¥, OIRCA 24539 MR
RS F 2@ ?

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

Sfe 5789 FNHRT GKPT [ @dhe Sl 3T 2436 MWRT ALUR 1 ke SR, 3teall 24539
safsmrEn A1 Hehe ST Y

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

If in a certain code 5789 is written as GKPT and 2436 is written as ALUR, how will 24539
be written in that code?

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

15.

15.

15.

15.

7 SIS ZCFan! AR I, ACS T TFACH! 7 =T :
6%4%9%15

W7 snfafes Szl Fva e, T0e 2w T3t Wwa =7
6%4%9x15

e FrET-ETR e g’ SrEre e qeEgs 16 SE
64 %9%15

(A) - X, = (B) X, = = (C) = X, - (D) - = X

Select the correct mathematical signs to balance the given expression :
6+%4%9x15
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16. <o BACGR ~[{1 (21 FRYCH! AMe Tfere

A) 2 (B) 11 C) 4 (D) 18
16. @me b Aee e s f=fiva e

A) 2 (B) 11 C) 4 (D) 18
16. THME HEMEAE MHFE IHSHRE 99 :

A) 2 (B) 11 (C) 4 (D) 18
16. Select the missing number in the given diagram :

A) 2 (B) 11 (C) 4 (D) 18
17. % POLICE ¥ QOMIDE f25Ica 7141 27, (9¢8 DACOIT 3 [/ 251 forf2a arifor

(A) EBDPJU (B) EADTOJ

(C) EADOJT (D) EBDOJT
17. 3 POLICE-9d %% 38 QOMIDE, (4 DACOIT-¢F FS 2(J

cwt-2025/P-11/ 302-C 15

(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT




17.

17.

Sf¢ POLICE @ QOMIDE % &sii BIAR, 3761 DACOIT ©t 9 & sl BIATIHA?

(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT
If POLICE is coded as QOMIDE, then DACOIT will be coded as
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT

18.

18.

18.

18.

T TR PO SO SS 1 W RS (@99 ACCF STe F1 R, (908 ICH] (Fewea T

2’397

w S| ® |8 | © |2 o |

G TR FICE AFO SS oo e (9ICe o8 Fcs1 Forgal o “neq A ?

w S| ® |8 © |2 o |

TSI AT forerega fofa wremmHT grarst oFtset, S SR e S

SS

w S| ® |8 © |2 o) |

If S S is drawn on a transparent sheet and folded on the dotted line, then what would

be the resulting figure?

w S| ® |8 © |2 o) |

19.

19.

cwT-—2025/P-11/ 302-C 16

S % 710 QSWW@W@@QMW4W@3WWWW@qW| a3
ACREATS GO GBI FIBIOICE (I SN (Flel oGy 3¢ 2

(A) 60° (B) 120° (C) 180° (D) 135°
TR fmEr SieE 10 wber o 2 93) e gt ) e 4 9fbr ¢ sireica (iot szl
T | 2 I T B o1 T Of2l T 2

(A) 60° (B) 120° (C) 180° (D) 135°




19.

19.

T TFAsT B 10 Fomerma S 31 Tt 39 forlt Senfaf 4 fimera amfeam didear| 3 @t
o "t sArETget o9 ferft fifaet?

(A) 60° (B) 120° (C) 180° (D) 135°
Ramya’s school starts at 10 o’clock in the morning, and after school she attends swimming

course at 4 o’clock in the afternoon. By how much degree does the hour hand move during
this time?

(A) 60° B) 120° (C) 180° (D) 135°

20.

20.

20.

20.

ﬂﬁ@@%ﬁ%ﬁﬁ%%%@il‘ﬁ%?ﬁ@w43%‘@‘%‘%?{\%3{@ foefa

@ @ @

A) 1 B) 3 C) 6 (D) 5

35 uafta foafs fifen ficea foa e 2oz | o/ (203 quaiita 4-9a fe[@e 2o § e =g,
foefy e -

@ @ @

A) 1 B) 3 C) 6 (D) 5

T SEEH AAL TP TP 16 Sami g Sel | SHEE Sat 4 7 3o wre /1 sEim g fagd

RA R

(B) 3 (€C) 6 (D) 5

Three positions of a dice are given. Find out which number is found opposite to the number
4 in the given dice :

AR

(B) 3 (C) 6 (D) 5
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21. Asian Development Bank-¢ SPTHe wQIeaecdo) *feq el 3w = & AT e 99 A1
CTRERICE R ARSR 49l SR[we IR 2
(A) 432-25 R weTq (B) 430-25 e werq
(C) 443-25 e werg (D) 434-25 ffere werq
21. PRI (TCSH?[CHD IF TS SPIN ACEH AP *fed Fel quce ¥R *fe fmerel Tre Fa0e
F© AR AT SICAe FCACR 2
(A) 432-25 ffer™ Tag (B) 430-25 ffer™ wad
(C) 443-25 fufere Tog (D) 43425 fufere Tog
21. 3TEM AT BEHSTE Mgl Sigql AR el W SR sred fm ufEme ddeas= s Sde
T T THE BET?
(A) 432-25 Tafm s (B) 430-25 fuafim s
(C) 443-25 Tafem s (D) 434-25 Tafem @
21. The Asian Development Bank recently approved what amount of loan to increase renewable
energy capacity and improve energy security in the State of Assam?
(A) $ 432:25 million (B) $ 43025 million
(C) $ 443-25 million (D) $ 43425 million
22. 1942 B ‘TR Gl IS S (SIS F0 1 (2fee 2
(A) COMEF (R (B) QM (7@
(©) PR T (D) T CPT
22. 1942-97 ‘TS T[T AT -« WA (FITGHCE FIOT (TS FCATRE 2
(A) NN @R (B) RS (req
(©) P e (D) T IR
22. 1942 YEUEH “IRA TOTR AIHTEHRAT A9 TR TR Gt B 8-/ SeiE
(A) THER iR (B) wiwm <&M
(C) fomrfer or (D) FE hie
22. Who among the following was hanged in the ‘Quit India Movement’ of 1942?
(A) Gomdhar Konwar (B) Maniram Dewan
(C) Piyoli Phukan (D) Kushal Konwar
23. SPTE 1S (I T4 O SIBEgR Sl ¥1ee 2
(A) SO S FILEC (B) OO S TR
(C) BT E TR (D) TRITIE S B
23. PR A (P Y6 (O SBABR ST FCACE 2
(A) PO @ AT (B) SO @ TR
(C) REC € TR (D) TRFTR S B
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23. STEHSI o« T gTael BTeL ISR R €7
(A) T AW Sieew (B) YoM 3R AR
(C) dTeTesT AR FAMAR (D) FFER AR fo
23. Assam has international boundary with which two countries?
(A) Bhutan and Bangladesh (B) Bhutan and Myanmar
(C) Bangladesh and Myanmar (D) Myanmar and China
24. TFTq J2eH “I-A7(h] SAES (20T
A) e (B) IPow=re
(C) Tfame (D) P
24, SROIET Jzed Mmi-af [
A) Rr (B) “IFoaace
(©) e (D) PTCH
24. RAM wRE 9 fean g
(A) foermE (B) EHTE & A
(C) Sfremm (D) 3AEME
24. The largest river island in India is situated in
(A) Bihar (B) West Bengal
(C) Odisha (D) Assam

25.

25.

25.

25.

SN GG TSB! (2R

<

(A) WIFEFT) T (B) I TR

(C) CIET AT (D) CoTBeTIoI%[a ETe
TP NI AT 20eT

(A) IRy TS (B) I TR

(C) R WreTef (D) CRIGTAI%[ T
STEMM AFEA Sl S&i

(A) e S (B) HRf S

(C) HeTer SR (D) AT SIRA
The only plateau in Assam is

(A) Deccan Plateau (B) Karbi Plateau
(C) Meghalaya Plateau (D) Chota Nagpur Plateau
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26. TR wiferea FA-2-2ET T (FICO! ToeTl &1 07 BFge]ef T 2

(A) *@IEE0T I& (B) BGFF Al
(C) T eI e (D) IRNSR [care
26. PR Oifelea FIfE-2-3Fw" Tovd (@I 9611 SIS [0 9 @weeef T2
(A) *AIBACHT T= (B) MRS A
(C) T SR S (D) R Rewr=
26. TaEgia aifed wrfrn-3-3fsmen’ en Memf o« SemEE! fafemmt omam T gt
(A) IREERM IR (B) AR TRIF
(C) HRIHATH IaaT (D) HamfE faummrrEEE
26. Fathiyyah-i-Ibriyyah of Shihab-ud-din Talish is an important source to know about
(A) the Battle of Saraighat (B) the Treaty of Yandaboo
(C) Mir Jumla’s Expedition (D) Moamoria Rebellion

27. &7 WIS (FICH! SPTNE SAifes I %8 ?

(A) (9 IF AFReF (1% (B) ~Rf5w
(C) ferafrersmm (D) PR
27. e @@ PR SwEifen g4 %8 2
(A) (9 @R ARFRSF 9T (B) rf5w
(C) ferfierert (D) PR
27. MM TET e Gieemmn a1
(A) oma IR fafsmmf 1= (B) UEMIETEA™ (Tourism)
(C) TegamE (Manufacturing) (D) AT

27. Which of the following is the main pillar of Assam’s economy?
(A) Oil and Natural Gas (B) Tourism
(C) Manufacturing (D) Agriculture

28. (I DTS ST 59 (T (LIS AT ol I (2127 2
(A) 1919 (B) 1999
(C) 1991 (D) 1989

28. TS SPICHA 5o (991 CTAIANRIMG (IR ACa 1] T4 2R 2
(A) 1919 (B) 1999
(C) 1991 (D) 1989
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28. ITEMM Y o7 WEHICTE! F6 HTAATEATE JHCTRIE TTEEHTE !
(A) 1919 (B) 1999
(C) 1991 (D) 1989
28. In which year was the fourth oil refinery of Assam started at Numaligarh?
(A) 1919 (B) 1999
(C) 1991 (D) 1989

29. IP@ YT T (21 YMEPTRY (30%
(A) A= (B) @©=2
(C) W= (D) =G

29, ST A4 TS WP 2Cel

(A) & (B) o

(C) e (D) G
29. MG FTeA g HHa Sai

() wiE B) frg

(C) wamg (D) =
29. The staple food crop of Assam is

(A) rice (B) wheat

(C) pulses (D) jute

30. ‘NI IR’ SIS

(A) TIeTeT “A12<re (B) o@mwe “[zRe

(C) wfeIFD “M2e (D) 93T @bIe 7=
30. PN TR’ [T

(A) TeTDeT “ArRICT (B) foarser “m2ree

(C) D ~riey (D) «9zfm 93fbe T
30. FHARAT AT OH TSI &

A) Tremea = (B) et g

(C) wfoTHa &Il (D) S®RE el TS
30. The Kamakhya Temple is situated at

(A) Nilachal Hills (B) Chitrachal Hills

(C) Manikuta Hills (D) None of these
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31.

31.

31.

31.

I IEAXE IO TS (e =1fwe 2

(8) wEe Hirg (B) vewE iz

(C) @ iz (D) 2we PRz

SCZN AERECR 17 F5(ne (3 fea 2

(8) e Bz (B) vewE iz

(C) @ iz (D) =we Bz

TN TSTBI ST TerieaT A ?

() s fig (B) =heas frg

(€) = foe (D) v i

Who was the last Swargadeo of Ahom Dynasty?

(A) Jayadhwaj Singha (B) Chakradhwaj Singha
(C) Purandar Singha (D) Pramatta Singha

32.

32.

32.

32.

‘e (el I oS el 41 C2fee 2

() S FE (B) Fer FAI

(€) = g (D) <17 A2

(A) S TR (B) TPt Fual

(C) il FH e (D) = sEfEAETT

S A @ G STEEE

(A) SEmfd Fafd e (B) Soraft Faftfy merEiforma
(C) et Faftf MaraEferTa (D) T TMEEIIH TMEraifeRTE
‘Joy Daul’ was built in the memory of

(A) Joymoti Kunwari (B) Phuleswari Kunwari
(C) Ambika Kunwari (D) Rani Gaidinliu

33.

33.

ferafertre feremrres (e foet <are Torerre wfEs = 2

@) S (B) 2Tty
(C) =¥ (D) wfsie
e Sleie (oePees (i (SRl I STeR S{Te 8 2
(A) Href (B) =feeTiif
(C) == (D) e
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33. TREM T9 TR a0 gEAH e as?
(a) A (B) ETECARI=
(C) HBR (D) wfaTe
33. Which of the following is not a district of Barak Valley?
(A) Shribhumi (B) Hailakandi
(C) Cachar (D) Morigaon
34. RIS (@ T Fofere FUHRI SRS AN TS ATS P2 ?
(A) Pl TSy (B) fou=-F=dl e
(C) Tl e (D) «3ERT @HrS T2
34. fcy Tfafe @ Ao o 718 Foftre wubiRced @kl e ACHH TBYe BCARE 2
(A) TS AT (B) feami-s=ifs qren
(C) Tl ATen (D) 9zl «Ffhs T
34. TMEAM 9 TSSE! WriQd TXEa] TEH TESIS GLeTaaH=?
(A) AT TESI (B) femmaT-wai wes
(C) e g (D) SBRM HEet =T
34. Which of the following Kingdoms was finally annexed into the Ahom Kingdom by Swargadeo
Rudra Singha?
(A) Kamata Kingdom (B) Dimasa-Kachari Kingdom
(C) Dafala Kingdom (D) None of these
35. SPIA AWSIF! W2eT JUNG (I AR 2
(A) CoRWl SICTAIET BIesd (B) ol Fo@I
(©) I sTenifs (D) =g IS
35. PTG 2w e JAWa (P Reer 2
(A) CRMI SCARIR COFa (B) ICoel FoI@
(C) el Toifs (D) (=g YFfe
35. 3tEmt fifatam smesi fife afmn aram?
(A) @1 AR TTEHL (B) el FHaTAH
(C) = Taqufa (D) WegsT gl
35. Who was the first lady Chief Minister of Assam?
(A) Syeda Anwara Taimur (B) Sucheta Kripalani
(C) Nandini Satpathy (D) Mehbooba Mulfti
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36.

36.

36.

36.

I ACEIETS 251 SF H°I-§1 el a2 IR e’ ZAfelier Fa1 2fee 2

(A) ofre TREE Hig (B) Foftne 7[awq iz

(C) Fofms smigd Pz (D) Fofns 2re Pirg

I TGP 26 G P 819l 2 e q1-19” 7fefeife et 2

(A) =Fefre sRS P2 (B) #sfcrs 77w e

(C) Fsfcrs smix Ficg (D) Fofcne ave iz

AR G 9979 TGl 3971 AR Al e STEHE |

(A) Tred saEs e (B) wred T fag

(C) Teried TeeR T (D) Triea T« fae

During whose reign was the Rang Ghar reconstructed using bricks and mortar?
(A) Swargadeo Jayadhwaj Singha (B) Swargadeo Purandar Singha
(C) Swargadeo Gadadhar Singha (D) Swargadeo Pramatta Singha

37.

37.

37.

37.

ST BRI T (TR APFT (% F O IETS 2

() T e, s (B) e fafes e, Mretiera

(C) e e, fefpRm (D) bR e, wfals

ST R Q8 FIARR 2Pl (% (FIAE HA(ES 2

(A) TR et g (B) e fifer et feemama
(C) e Rel, fompifen (D) SR e, qfais

‘AT HATMR AR HA T 23 SR e g7

() few fort, et (B) wif fefg forer, fosmmm

(C) wFIR fore, fermrgferam (D) = o, wfara

Where is the ‘Assam Kayaking and Canoeing Training Centre’ located?
(A) Deepor Beel, Guwahati (B) Pani Dihing Beel, Sivasagar
(C) Maguri Beel, Tinsukia (D) Charan Beel, Morigaon

38.

38.
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TP “#{feTb AR TR 4w 7 T[T ?

(A) wsile (B) Craells
(©) A (D) fosita
PTG “offor] 2iffrme TRIRWeR’ b (IR S[aEs 2

(A) ele (B) (rRelle
(C) 7aC (D) fearm




38. AEMWMH ‘YT BT HEETCTHT 11 A& &7
(A) T (B) =T
© 37 (D) fem
38. Where is the ‘Police Training College’ in Assam located?
(A) Nagaon (B) Dergaon
(C) Dudhnoi (D) Digboi
39. ‘oA SIS S HLES 2
(A) oz, =P (B) (5w, fafea
(C) GINY, BEED (D) =’f2w, woliceTe
39. ‘sl S’ (IR wHiES 2
(a) o, = (B) sIH, Pl
(C) TG, BEHD (D) G, =Ialreme
39. TREUMT IS AT HeAE &7
() fog, smam (B) e, fafm
(C) TS, TR (D) fEe, TS
39. Where is the ‘Garampani Sanctuary’ located?
(A) Diphu, Assam (B) Gangtok, Sikkim
(C) Junagadh, Gujarat (D) Kohima, Nagaland
40. <1 rergIeTe Diel “IfEre R bice SNl @l e 2
() et (B) T
(C) =T (D) S
40. <1 ArergICat Dl “Afre R e PNl GHeel GeiReE 2
(A) efeasfa (B) ZETH
(C) T~ (D) orER
40. GRH TS Y™ G0 oA qEamEi e 91eT ey SEahaHE ¢
(4) e (B) TS
(C) TeomTe (D) HTEREEA
40. During whose reign did the Chinese pilgrim Hiuen Tsang visit Kamarupa?
(A) Bhutivarman (B) Harjaravarman
(C) Ratnapala (D) Bhaskaravarman
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41. @ 0 ‘RS fwze-6" (97, 99.-6) TeRE FfRe 2
(A) SIS (B) s
(C) ©Fe (D) B
41. SIS 7316 (991, @¥.-6) (FI (™ TeRe FCARe ?
(A) ST (B) S
(C) ©Fe (D) B
41. Standard Missile-6 (SM-6) @l 5 BeX fGgHaMM?
(A) ImafER (B) M
(C) wra (D) Fm
41. Standard Missile-6 (SM-6) was developed by which country?
(A) USA (B) Japan
(C) India (D) China
42. 7. @¥.-3F® “C6e (I TFORR T R T 007 ?
(A) eIy R e
(B) T I FpaAR *I& T
(C) TSRS TR S AP TG
(D) 92 Fifial e w15 faeael TEer
42. Y-S A6 (PM-SURAJ Portal) (SR T@EIGR @[l #GER 91 21 2
(A) 2T R wEer
(B) oA G AN *IFE e
(C) STEGF TR G- AT TFET
(D) 972 fosfiel 3R <191 2ol Tger
42. PM-SURAJ Portal 3T & Ministry Sl STgRISTGE!?
(A) Ministry of Rural Development
(B) Ministry of New and Renewable Energy
(C) Ministry of Social Justice and Empowerment
(D) Ministry of Housing and Urban Affairs
42. PM-SURAJ Portal is implemented by which Ministry?

(A) The Ministry of Rural Development

(B) The Ministry of New and Renewable Energy

(C) The Ministry of Social Justice and Empowerment
(D) The Ministry of Housing and Urban Affairs
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43. 2024 HF 3. 7. @@, Afscaforere @I i@y @ e FafRe 2
A) =IfecEs = (B) @ et
(C) T PR (D) TR @& 72T
43. 2024 AR W3, . @@, Afscafaren & “Oag e’ F S T 2
A) SfecEs = (B) @i cwrefar
€) fag tr (D) GMF (T3
43. R TafifEr IPL, 2024 T ‘Orange Cap’ @ S@RMH?
(A) 3fimes ymf (B) T et
C) fzfa (D) foraRfs | Tt
43. Which player won the Orange Cap in IPL, 2024?
(A) Abhishek Sharma (B) Virat Kohli
(C) Rinku Singh (D) None of them
44. 2025-2026% (T 143 AHRSS (@R ACHHI S TS FECZ ?
(A) P (B) oy faeemel
(C) SN & (D) fsT
44. & 4108 2025-2026 A LR ACSCO TACAE @ 3] 41 T 200 2
A) s (B) T R
(C) R’ & (D) zfsa
44, 99 WIS (Sector) 2025-2026 T arsieE Ffgs Fifem aer #ii?
(A) HiAT9Tg (B) T S
(C) ¥R T (D) L@ty
44. Which sector has received the highest allocation in the Budget for 2025-20267?
(A) Education (B) Rural Development
(C) Indian Railways (D) Defence

45.

45.
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] TG (AHE ARG I3 o 2

(A) Tcae fferg (B) $CowE A

(C) S 2/ =] (D) To &b. T
(A) fead fiferg (B) SR AW

(C) AR 2P Treel (D) T. O, TENEA




45, VR4 e External Affairs Minister 3T ®R?

(A) fortor fifsrg (B) U= aTed
(C) SWId JeRTeT ATET (D) To THo IR
45. Who is the current External Affairs Minister of India?
(A) Kiren Rijiju (B) Bhupender Yadav
(C) Jagat Prakash Nadda (D) Dr. S. Jaishankar

46. Z-Morh g% (CT=Isf 3%)7 e @ S [Keana 41
1. 3 colfee a5 o<pea @bl o |
2. 65 km TI¥e] 01 TY-IPAGE A5T SF ETAHIS HHS AYS FACR |
3. 2%%CH! National Highway Authority of India-9 g4 (2|
SR (IO / (FIER T AT 2
(A) @G 1 S 2 (B) &FeT@ 1
(C) (TG 2 IF 3 (D) (PG 2

46. Z-Morh % (GTINIS 5[o%)-4q ey Teva Sfeaf feap e
1. «ft et o[ee ocea 3o = |
2. 65 km T 5[Un(b & Ga2 FIACTA A90I GR CTII S IS FCACR |
3. <% National Highway Authority of India-3 SERYIE @5 |
ea @ e /el 70 2
(A) PTG 1 9R 2 (B) (FEEIE 1
(C) (FTME 2 9k 3 (D) (FIERIG 2
46. Z-Morh 2Hdl (W'MH THa) @ AHM T TeEH fogfrdt TR & -
1. o3 SN 2He ISigef Jig STer |
2. 65 foho o e & T S/ TR HIFHTE TATIAR 3T @ THE STHera! BHrsTE! |
3. & YS! MG A9 ged ITURfe 31 T |

Trsitae g ae forgfr/ femforern s
(A) 1 3R 2 A (B) 1 3
(C) 2 I 3 I’ (D) 2 =

46. Consider the following statements regarding the Z-Morh Tunnel (Sonamarg Tunnel) :
1. It is a part of Zojila Tunnel Project.

2. The 65 km long tunnel connects Gagangir and Sonamarg region in Jammu and
Kashmir.

3. The project comes under the supervision of the National Highways Authority of India.
Which of the statements given above is/are correct?

(A) 1 and 2 only B) 1 only

(C) 2 and 3 only (D) 2 only
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47.

47.

47.

47.

OO A Q. 2. (Al) 919 FLA 2

(A) PeTFTe (B) ICH

(C) & (D) e
TRCST A2 €. =2, (Al) 97 @O 2

(A) PeTFT (B) ICH

() & (D) =ElE
e e wrdt fifa AT Tt

(A) heTRIdT (B) @3

(©) fegi (D) Mg
Which of the following is the first Al city in India?

(A) Kolkata (B) Lucknow
(C) Delhi (D) Bengaluru

48.

48.

48.

48.

‘@IolZeb+” (Copilot+) IHTHR, T'© Al-2Rfe =A@l Wy ‘RFe’ (Recall) I9%R ARl wce,
DI 2R @i qaifes 2

(A)  GETFICID (B) «co=
(C) «@ve (D) & 5%

@R e @A 9. wiE (Al)-Tme IRGRel @R S oA (Recall) (ARERS
‘ I#(18eT6+" (Copilot+) F{THR ble] FCACZ ?

(A) SHETFICED (B) =micoret

(C) T (D) WBCEFPRED

‘Copilot+’ HFISR, SE Al-ATEH TSRS [gA Recall TR @Tg &, SE@T T HPATHAT SHTIET ¢
(A) TeTHTEE (B) =M

(C) TR (D) g A

Which tech company has launched ‘Copilot+’ PCs with Al-enhanced functionality and
a unique Recall’ feature?

(A) Alphabet (B) Apple
(C) Acer (D) Microsoft

cwT-2025/P-11/ 302-C 29




49. T SFEF (T5a1 97T 1), 2024 (FIC S FR 2

(A) T TR (B) 3= (ndl

(C) TN (D) To “ffar @ W
49. T SFIF (220l (T ~FFA), 2024 (F S FCARCE 2

(A) T TR (B) 3= (wdl

(C) FHIMe (D) C. “fféfan vt e
49. TR Green Oscar (Whitley Gold T4T), 2024 @I STEGHA?

(4) T G (B) e ot

(C) Feorgfed (D) So gfvtAT <&t FwA
49. Who received the Green Oscar (Whitley Gold Award), 2024?

(A) Raman Sukumar (B) Brindha Devi

(C) Krishnamoorthy (D) Dr. Purnima Devi Barman
50. (T D PRy 7B Afecam, 2024 2 Fafee 2

(A) WHO (B) UNICEF

(C) UNDP (D) World Bank
50. PR MFM0 Fre R aAfecam, 2024 2 Fcafke ?

(A) WHO (B) UNICEF

(C) UNDP (D) World Bank
50. &« YA Child Nutrition Report, 2024 @ STe@l HIETEE!?

(A) WHO (B) UNICEF

(C) UNDP (D) World Bank
50. Which organization released the Child Nutrition Report, 20247

(A) WHO (B) UNICEF

(C) UNDP (D) World Bank
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51.

51.

51.

51.

g 318w FIRTO! FIT, 20247 TS 1809 (7 feoqw waeq B 5 2

(A) 159 (B) 152 (C) 150 (D) 161

g S1eam FIRTOl FIT, 2024 SERR 18016 (e Wy ©INCS B F© 2
(A) 159 (B) 152 (C) 150 (D) 161
World Press Freedom Index, 2024 31d, 180 g B TTET A JTfe= |1?

(A) 159 (B) 152 (C) 150 (D) 161

In the World Press Freedom Index, 2024, what is India’s rank among 180 countries?

(A) 159 (B) 152 (C) 150 (D) 161

52.

52.

52.

52.

‘SO (FIDIT Fcveeel TPt (FRG 2I1eTel T =7 2
(A) «CTF€ 9 (B) w7
(C) *«&F< 5 (D) *1C959 3

SO TR Aveel W I e 4T 27 2

(A) «CeTFF 9 (B) «CeFd 7

(C) <= 5 (D) <=2 3
“ShdT AT AT HIsaT Hiferel ¢

(A) 9 TEwR (B) 7 TR

(C) 5 T&mR (D) 3 JeT=R
When is ‘National Cancer Awareness Day’ observed?

(A) November 9 (B) November 7
(C) November 5 (D) November 3

53.

53.
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2If q=q ‘@M (@@’ (Jonbeel Mela) (@< fé@Te SRoe 27 2

(A) wRele (B) amsM
(C) foare (D) CSTeTETB
2IfS q=7 ‘(eI (R’ (I (ST SO =7 2

() wfefe (B) <l
(C) foam (D) ¢oleas




53. FEEHEl SAfSE Al (Jonbeel Mela) i AT6l fSemma ggAm S ?
(A) #HETE (B) STeRdl
(C) f=@ (D) TETER
53. In which of the following districts is the ‘Jonbeel Mela’ held every year?
(A) Morigaon (B) Baksa
(C) Chirang (D) Golaghat
54. ‘fE o’ @fea T F41 29 2
(A) 25 GFRRMS (B) 21 ¢T®
(C) 17 GRS (D) 14 <€FTe
54. ‘Ml T e Traifere =7 2
(A) 25¢ &R (B) 2197 (&
(C) 172 Sl (D) 143 wceTq
54. Tredt foaw’=@t Aean wifeq ™ S
(A) 25 STaREE (B) 21 ¥
(C) 17 SaRETE (D) 14 v
54. ‘Silpi Divas’ is celebrated on
(A) 25th January (B) 21st May
(C) 17th January (D) 14th November
55. ‘SPTY e A=ER (Bl O HAES ?
(A) @IS (B) FreTeRe
(C) Tees (D) RGBS
55. ‘P [ifens Aer=er b (S w[iEs 2
A) sare (B) et
(C) waire-9 (D) @O
55. ‘THM TRTEHET SHYEHTI 1 W= &7
(A) TETETR (B) ReEmR
(C) e (D) Si&ETe
55. Where is the ‘Assam State Museum’ located?
(A) Guwahati (B) Sivasagar
(C) Nagaon (D) Jorhat
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56. ASTC-3 9% 23
(A) = (BG @GR Fefican (B) = (B (5 31 &l b
(C) S (Bf GI'S Feeficana (D) =¥ (&% Gt Feefican
56. ASTC-«3 5 3l
(A) SPIE (B5 (GeR FeeAica el (B) PN (B0 (GRS FI
(C) TP (55 FRICeD Feoficaee (D) SIPIN (b6 GICeel I
56. ASTC 1 =fifern sl
(A) W T2 2fE FRE (B) T T2 o oISl hite
(C) M T2 TH9 FNET (D) TE™ T2 IHA FRAT
56. ASTC stands for
(A) Assam State Trading Corporation (B) Assam State Technology Commission
(C) Assam State Transport Corporation (D) Assam State Travel Corporation
57. fafeiroo s (FrICh! @b FifE o 7= 2
() =efq (B) fRfemm
(C) fomT (D) T2 cem
57. fi Sfafe @i g ame w2
(A) e7sfe B) fferrm
(©) frm (D) AECGICe
57. TEMEM 56 THEAT SRSEATS T (inert gas) TET?
(A) 3T (B) Teferam
(© fem (D) Trsg’SH
57. Which of the following is not an inert gas?
(A) Argon (B) Helium
(C) Neon (D) Nitrogen
58. 1894 H© IPTF IS [ACUIZ (T I3 FAL® (3fRe 2
(A) or=7E (B) =wg
(C) ~2FdD (D) cofmgfer
58. 1894 Alcal SIPIICNE F9F AUz (T Fw R¥be 2gafee 2
(A) oT=REE (B) 2
(C) “NI=FEID (D) cofmaTSgfer
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58. 1894 WIS MM ATETEN ARG &1 STaHH?
(A) TR (B) =AT<Tg
(C) dIUEETE I IEHERISIY
58. The Peasant Uprising of Assam in 1894 took place at
(A) Gohpur (B) Yandaboo
(C) Patharughat (D) Dhekiajuli
59. 79 =iz, . . T20 ReeFiel, 2024 @ G (WEET Z[THQ A FAE 2
(A) SRR IE (B) @&fep @'%
(C) wfere TR (D) TR G&1e TR
59. 7FFC 3. P B1. T20 Rediol, 2024-9 (& T (HCERICER 7[R e iecer 2
(A) TFR T (B) Hfew czu
(C) e ol (D) 9T (Y3 T
59. BETHRMH ICC T20 World Cup, 2024 14 TR A TN STama) J=emE ¢
(A) TR = (B) hw e
(C) e gure (D) foramft amat 71
59. Who won the best player award in the ICC Men’s T20 World Cup, 2024?
(A) Suryakumar Yadav (B) Travis Head
(C) Jasprit Bumrah (D) None of them
60. 2034 519 5l feeaiel 79 Soe 2'9 2
() =2 (B) (Bt =<
(C) el (D) G (FICAICHICEE T27
60. 2034 e el Pl (IR TP BT 2
(A) == (B) T =15
(C) Tl (D) «gfed @FeDe T
60. 2034 T FIFA 9c€ &1 S&g1d S ?
(A) T (B) e stfern
(C) MR (D) SHRA A TST
60. Where will the 2034 FIFA World Cup be held?
(A) Spain (B) Saudi Arabia
(C) Canada (D) None of these
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61.

61.

61.

61.

AW 460 B AW 10 & 2/, 16 1S Af2e SF 2001 Freq e e ©lal IR e, (9 Ares
CoIRT SIR¥ #2737

(A) 10 51 (B) 16 5

(C) 20 B (D) 46 B

M SR 460 B 10 & 2Fd, 16 T qizell @<k 2010 Frem we e el el v R, oreeE
2T ©ICs F© GIPl SAPICE ?

(A) 10 SR (B) 16 BrFl

(C) 20 Brp (D) 46 B

Sfe S &1 10 ger gEfE, W@ 16 s Ay o) ' 20 19 AEE 460 TE 9HE [T RIS,
TR SR foereT e

(A) 10T (B) 16T

(C) 20T (D) 46T

If we divide ¥ 460 among 10 men, 16 women and 20 children equally, then the share of
each one will be

(A) ¥ 10 (B) ¥ 16
(C) ¥ 20 (D) ¥ 46

62. M 22Xl .4 =82y, (OB x I I T

(A) 1 (B) 2 € 3 (D) 4
62. T 22°*! L4 = 837, SR x-9F WM 2@

(A) 1 (B) 2 € 3 (D) 4
62. Ssar 225*1 L4 = 8 9N, sl x T WA SETA

(A) 1 (B) 2 € 3 (D) 4
62. If 22**1 =4 = 8 then the value of x is

(A) 1 (B) 2 € 3 (D) 4
63. T (0! NfeT e W 2
63. It6a (@1 Mfafes Tfet wg 2

@ -2 B S<2 © <2 o -
63. TEEM 3¢ THd g fogie omr?
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63. Which of the following mathematical statements is correct?
40 20 8 4 6 6 7 28

64. o1 ARG R4 % o 2 TG 23, A2

(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=b+c
64. ﬁmﬂwﬂgegﬂw TR 7CF, T4

(A) a+b=c+d B) axb=cxd (C) axd=bxc (D) a+d=b+c
64. qﬁﬁm@ammﬁm%aﬂﬁgaﬂwaﬁq, EEl

(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=b+c
64. Two rational numbers % and 2 are equivalent if

(A) a+b=c+d B) axb=cxd (C) axd=bxc (D) a+d=b+c
65. M b1 faged iy Tafeq yad o Tafes T4 2x 99 =, (908 [qeetR Fifl 2'7

(A) 8x? 39 «F3 (B) 2x2 3o &5

(C) x* asf @ (D) 4x2 o 93
65. T @ fageen PRl ©F Tafen By @72 Tafed T 2x 9 27, wRe fapeiog cFawe 2

(A) 8x? 39 @3 (B) 2x2 3of «F%

(C) x? of 4 (D) 4x? 35 @5
65. TFE STET-UUMM ST SFERT SHemEH 3 A1 Secl SHAEH TH1 2x ARG S, 3Tee Aran-2omH

65.

EAISEIASIUIES
(A) 8x? =i wrfe (B) 2x2 =t wrfa
(C) x? =l WrFfe (D) 4x2 =t wmf

If the base of a triangle is twice its altitude and the altitude is 2x unit, then the area of the
triangle is
(A) 8x? sq. unit (B) 2x? sq. unit

(€) x? sq. unit (D) 4x? sq. unit

66.

66.
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e (IO 9B faged fofeibl T/2q (o9 2’3 R 2

(A) 5 c=sfe, 10 (=sfz, 6 cmsfis (B) 14 czsfie, 7 czsfie, 8 cmafis
(C) 10 czsfie, 20 czsfie, 8 (mafils (D) 30 czsfie, 20 @afils, 12 (zsf¥e
v @ A 9t fagcem feafs =g qel 2ce i 1 2

(A) 5 iefie, 10 oiefie, 6 Gisfe (B) 14 ¢Tefs, 7 orefis, 8 oisfye
(C) 10 ¢Tefz, 20 ¢iefis, 8 Gisfye (D) 30 ¢Tafz, 20 GTefe, 12 ¢Tafe




66.

66.

MEEH 5« AE A8 e g =y st S g ?

(A) 5 Fo flro, 10 Fo fHo, 6 To fio (B) 14 Ho fito, 7 Fo fio, 8 To oo
(C) 10 Ho o, 20 o firo, 8 Wo fHyo (D) 30 Ho fifo, 20 To o, 12 Fo fio
Which of the following cannot be the measures of three sides of a triangle?
(A) Scm, 10 cm, 6 cm (B) 14cm, 7cm, 8 cm

() 10 cm, 20 cm, 8 cm (D) 30 cm, 20 cm, 12 cm

67.

67.

67.

67.

[

‘T IS SRA TR @9 48,7 (3 TRECH! 2PN IR #41 ARFEICH! 27
(A) (x+1)+(x+2 =48 (B) x+(x+1)=48
(C) x+(x+2) =48 (D) (x-1)+(x-2) =48

[N

“uf> G SA TRAOW @9 24 48,7 2 TfEH Tova @I ATFACT 2P 700 2

(A) (x+D)+(x+2)=48 B) x+(x+1)=48

(C) x+(x+2) =48 (D) (x—-1)+(x-2) =48
T HIR SR S aTSTeeTE 48,7 o fogfrat BRARAT SR THTTSAT Sat
(A) (x+1D+(x+2) =48 (B) x+(x+1) =48

(C) x+(x+2) =48 (D) (x—-1D+(x-2) =48

“The sum of two consecutive odd numbers is 48.” This statement can be expressed in
equation as

(A) (x+1)+(x+2) =48 (B) x+(x+1) =48
(C) x+(x+2) =48 D) (x-1)+(x-2) =48

68.

68.

68.

68.

X < y+2=0 (SCETR &S m I(EPNM ?
A) 2 95 (B) 3 9T
(C) 4 9T (D) 1 95

X-OFF G98 y+2=0 @b T 779 T ?

A) 2 93 B) 3 9P

C) 4 9= D) 1 9

x-Tod’ 3 y+2 = 0 gEF ToRM ST ST

(4) 2 "M (B) 3 AR

(C) 4 | (D) 1 ¥R

What is the distance between the x-axis and the line y+2=07?
(A) 2 units (B) 3 units

(C) 4 units (D) 1 unit
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69. 1289 T #1971 & T[TOT AN (A5 FICE 2 GBI 7Jefaef T2 =77 2

(Aa) 1 B) 7 () 13 (D) 16
69. 1289-97 et Flela (I TR ol Faee Gfb G5 7jofasf e =7 2

(Aa) 1 B) 7 () 13 (D) 16
69. 1289 i A1 GAMH AR ITSTalleett HIFE 3T &7 ST ¢

(A) 1 B) 7 () 13 (D) 16

69. What is the minimum number to be added to 1289 so that it becomes a perfect square?
A 1 B) 7 (C) 13 (D) 16

70. 9B BT BN I THOE T FCH 5 cm W 3 cm. AFSCRCOE el Tlere |

(A) 30 cm? B) 15 cm?
(C) 7'5 cm? (D) 15 cm

70. 431 STNERCP PR 992 THO! T 5 cm GR 3 cm. MNP CFazsl 1o T |
(A) 30 cm? B) 15 cm?
(C) 7'5 cm? (D) 15 cm

70. HH formesemst g SR St et w5 em 3R 3 em. fergsams wife fog |
(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm

70. The base and height of a parallelogram are 5 cm and 3 cm respectively. Find the area of
the parallelogram.

(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm

71. 9= 10% 9T 7S] BT (FICT ForKeT 1 =@ 739 277 2

(A) 2 2@ (B) 5 JzT©
(C) 10 qzT@ (D) 20 qzT©
71. QST 10% e 0 2 (FICT GF T4 F© q=eq 7990 203 2
(A) 2 = (B) 5 9=
(C) 10 9=cd (D) 20 J=A
71. IENE 10% TRA e gRa o fifer Ser S8e sre - S 7
(A) 2 STERE (B) 5 SN
(C) 10 SrEw (D) 20 SrERE
71. In how many years will a sum of money be doubled itself at a simple interest of 10% p.a.?
(A) 2 years (B) S years
(C) 10 years (D) 20 years
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72. ASF B @ IA@EE 10,000 5 IF 6,400 531 1 GBI SLMmI_T 5077 W_S F€Ce | 5 29 Prme A @
3,000 53 TIRB &G WF B (@ (9€F FHF T[S F 600 5F @9 W | B @ AfG SNmF 251070
A =Teq 10% (T f2DIC7l #Te FCq | GI=aq T 2 o1® 16,000 551 2'C51 B i G 279 2

(A) 6,480 51 (B) 7,920 51
(C) 8,080 5l (D) €3ERT @bre W=7
72. A &R B IAGE 10,000 OF @R 6,400 b6l M@ @I SAmid! 07 WF FF | 5 OF [ A

3,000%@@@&?33%@ R SeIce e 600 B @19 6@ | B G weNm B2eiE
T TCST 10% (qo BT 211 | @F I[ 219 (N6 & 16,000 BIFT (&1 B-GF ST F© 3¢ ?

(A) 6,480 B (B) 7,920 Bp
(C) 8,080 Bl (D) @R e T

72. A 3 B T B 10,000 T 3 6,400 T M HHE SEREM BIAT SRS | 5 gEH 346
A 3T 3,000 T SEHET AEE AR B 3 MEM SEFS SR 600 T ISEa | B 311 HEgal SR

TR FERIR GAFEN 10% IHETT e HHEE | SERAT 3 M e 16,000 O SEear, BT
AT STEFTIST Sl ST ¢

(A) 6,480 T (B) 7,920 T
(C) 8,080 T (D) SR A=A TST

72. A and B started a partnership business investing ¥ 10,000 and ¥ 6,400 respectively. After
5 months, A withdrew ¥ 3,000 and B added ¥ 600 to their investment. Being active partner,
B gets 10% of the annual profit as salary. If the profit at the end of one year is ¥ 16,000,
the share of profit of B will be

(A) 6,480 (B) ¥7,920

(C) ¥8,080 (D) None of these

73. T fefg 541 :

243

11 11 17 17

(A) (B) y € — (D) ——

73. T el Fc -

243

= B © o) -

(A)
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73.

73.

qﬂﬁg:l:

-3
3 3 9
11 11 17 17

5 B -5 © - B -5

Find the value of

(A)

11 11 17 17
A) — B) -— Cc) — D) -—
(A) 5 (B) 5 (C) 9 (D) 9
74. O FRYICHH[ L] e 1
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
74. e il Ny e e
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
74. TEAM SHASHTGRM T (Median) g -
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
74. Find the median of the following numbers :

32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42

75.

75.

75.

75.

S 2R 10% baFg% S[o® 100 551 2 T29 Jq@ 0~/ 2"l

A) 121 B (B) 221 53

(C) 111-21 5=l (D) 121-21 5=l

100 Bl 2 ICT ATRTF 10% 5adfan 21CA S 20a (6 Afkew @iz« 2ca
(A) 121 o= (B) 221 5

(C) 111-21 Bre (D) 121-21 Bre

GRS 10% TRE 100 T dER 2 1 SR gar see

(A) 1217 (B) 221 T

(C) 11121 T (D) 12121 T

The amount on compound interest of ¥ 100 for 2 years at the rate of 10% per annum is
A) F121 (B) ¥221

(C) F111-21 (D) ¥121-21
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76. I p TAE g AT, AF FALG. IAFH r AF s W, (ST p, g r IF sI AALYG. (AT
(p, g Tl R4T)
(A) pgq (B) gr (C) sp (D) s
76. p 9R q @7 AALY. GR A.G. INGH r GR s 2@, p, g r R s G AALY. 23 (p, g TORT
R4)
(A)  pq (B) qr (C) sp (D) s
76. p 3 g To 3o Ao AW Fo 3o Hlo T FINA r AW s AT, p,g,r I sH Fo 3o Ao 371 A
ST ( p, g e Taféem smfsmn) ?
(A)  pq (B) gr (C) sp (D) s
76. If the HCF and LCM of p and g are r and s respectively, then the LCM of p, g r and s is
(p, g € natural numbers)
(A)  pg (B) qr (C) sp (D) s
717. zrfﬁx+l=7§§[, et x%%ﬂﬂﬂi’a
X X
(A) 49 (B) 40 (C) 42 (D) 47
77. ot L = 7 24, ©q x> +%—aawm
X X
(A) 49 (B) 40 (C) 42 (D) 47
717. _ﬂ’%x+l=73ﬂ°ﬁ, el x 2 +i2ﬁrtr|=n$n1ﬁ=r
X X
(A) 49 (B) 40 (C) 42 (D) 47
1 5 1 .
77. If x+=-=7, then x“ + — is equal to
X x2
(A) 49 (B) 40 (C) 42 (D) 47
78. 13 °[l 25 (AT TS S RIS (1T (a2
(A) 325 (B) 200 (C) 169 (D) 89
78. 1 (AP 25 B TR AW RIS 9T 2
(A) 325 (B) 200 (C) 169 (D) 89
78. 1 fiwm 25 o o S5 I SHfSmI STsTeTEE Sat
(A) 325 (B) 200 (C) 169 (D) 89
78. The sum of the odd consecutive numbers from 1 to 25 is

(A) 325 (B) 200 (C) 169 (D) 89
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79.

79.

79.

79.

o1 TfeTad (FRICH e W weE ?

(A) ATSCH! A ((TIerP) F5E GB1 Frelfas 2= |
(B) SIS 7 FOIfRS AT 274 1.

(C) 0 BT 7 1Yy |

(D) 2fSChl FIelfTF RS bl I 47 |

Toe Sfeeslr T @ el wa w12

(A) 2B I (4FreRe) 4N G OIS A4 |
(B) “Fuey Frelfd A 2@ 1.

(C) O 9pfB 7Jef A2 |

(D) =fefb Frei 52 @b o 2m|

et R Tere s« gitEn 9 T

(A) THFBM SR (Positive) Afermar fafsmm smfmn
(B) =tz gafem faform smfsmm 1.

(C) O 3T UHY 3Tg M|

(D) wA%M fHfsem s s/ st

Which one of the following statements is not true?

(A) Each even (positive) number is a natural number.
(B) The smallest natural number is 1.

(C) 0 is a whole number.

(D) Each natural number is an even number.

80.

80.

80.

80.

A b1 <% o1 200 B 2 WIF (922 10% 2, (98 IECON I A12ed 1 w190 &o7q w11 279
(A) 90 5l (B) 190 Bl
(C) 80 5= (D) 180 5l

I @3 TG 7N 200 Bl 2 @R TR TR 10% T ACF, OI2ce 20 [Foce @Fons e ny fice
277

(A) 90 Gl (B) 190 Bl
(C) 80 Gl (D) 180 Bl
Jfe A gt SEET 200 T ST SR 10% W SR, AT W@ SRy g W S8 S
(A) 90T (B) 190 T
(©) 801 (D) 180 T

If the price of an article is ¥ 200 and the rebate on it is 10%, then the customer has to pay
for this article

(A) ¥ 90 (B) ¥ 190
(C) ¥ 80 (D) ¥ 180
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81. Which of the following is incorrect ?

(A) A swarm of monkeys (B) A caravan of camels

(C) A pack of wolves (D) A colony of rats

82. Which of the following words is closest in meaning to the word ‘abundant’?

(A) Scarce (B) Difficult

(C) Barren (D) Ample

83. The phrase ‘stem the tide’ means

(A) save (B) stop

(C) touch (D) spare

84. The antonym of the word ‘callous’ is

(A) casual (B) sensitive

(C) soulless (D) strict

85. Choose the odd word from the following.

(A) Agitated (B) Aggressive

(C) Rowdy (D) Submissive

86. “O my Luve’s like a red, red rose” is an example of a

(A) simile (B) metaphor

(C) metonymy (D) personification

87. What is the meaning of ‘cost an arm and leg’ ?

(A) Very expensive (B) War damages

(C) Total destruction (D) Medical surgery
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88. Choose the correct option to fill in the blank in the following sentence :
“He was so hungry that he could wait to wash his hands.”
(A) rarely (B) often
(C) seldom (D) hardly
89. Choose the correct option to fill in the blank in the following sentence :
“Can you tell me the truth?”
(A) why did you not speak (B) that why did you not speak
(C) why did not you speak (D) why you did not speak
90. Choose the correct option to fill in the blank in the following sentence :

“The train before we reached the station.”
(A) had left (B) left
(C) has left (D) was going to leave

91.

Choose the correct article to fill in the blank in the following sentence :

“He is MA in English.”
(A) a (B) an
(C) the (D) No article is needed

92.

Choose the correct question tag to complete the following sentence :

”»

“She is going there,
(A) isn’t she? (B) is she?

(C) doesn’t she? (D) isn’t it?

93.

Find the incorrectly spelt word.

(A) Conductor (B) Conductance

(C) Condusive (D) Confusing

94.

Choose the correct option to fill in the blank in the following sentence :

“When I met Rajat in Mumbai, he teaching English for four years.”
(A) is been (B) has been
(C) have been (D) had been
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95.

Fill in the blank of the following sentence with correct option :

“Assam has tremendous potential investors in service sector.”
(A) of (B) in
(C) at (D) for

96. Choose the correct passive form of the following sentence :
“She is writing a letter.”
(A) A letter is written by her. (B) A letter has been written by her.
(C) A letter is being written by her. (D) A letter is writing by her.
97. Choose the correct option to fill in the blank in the following sentence :
“She is __ than any other girl in the class.”
(A) tall (B) the tallest
(C) more tall (D) taller
98. Choose the correct indirect speech of the following :
She said, “I have finished the work.”
(A) She said that she has finished the work.
(B) She said that she would finish the work.
(C) She said that she finished the work.
(D) She said that she had finished the work.
99. Choose the correct option to fill in the blank in the following sentence :

“l asked him so lazy.”
(A) that is why (B) why he was
(C) that why he is (D) that why is he

100.

Choose the correct option to fill in the blank in the following sentence :

“He always claims to be everyone in his company.”
(A) superior than (B) superior to
(C) superiority over (D) All of these
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SPACE FOR ROUGH WORK
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